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Part 1 Listening Comprehension ( 20 minutes )

Section A

Jirections, In this section, you will hear 10 short ccnversations, At the end
of each conversation, a question will be asked about what was
said, The conversation and question will be spoken only once, Aftre
each question there will be a pause, During the pause, you mustread
the four choicse marked A), B), C), and D), and decide which
is the best answer, Then mark the corresponding letter on the
Answer Sheet with a single line thrcugh the center,

Example, Ycu will hear, :

You will read, A ) At the office,
B ) In the waiting room
C) At the airport,
D ) In a restayrant,

Sample Answer (AJ) (B) (C) (D)

From the conversation we know that the two were talking about some work
they have to finish in the evening, This is most likely to have taken place at
the office, Therefcre, A ) “At the office” is the best answer, You should mark
A on the Answer Sheet with a single line through the center,

1. A)Yes, he may attend it, C )No, he can’t attend it,
B)Yes, he will by all means, D)No, he doesn’t want to attend it,
2. A ) She doesn’t want to answer the question,
B ) She doesn’t understand what the man said,
C) She is also a newcomer in the city,
D) She is going that way, too,
3. A) One, C) Three,
B ) Two, D) Four,
4. A) He will no longer ask for their help,
B) He will regret not having their help,
C) He still needs their help,
D) He has to manage without their help,
5. A) She is not feeling very well,
B ) She is very ill,
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C ) She is annoyed with the doctor,
D ) She is badly hurt,

6. A ) Things to wear," B ) The warm weather,
C ) Best material for making clothes, D ) A bright shirt,

7. A )In a restaurant, : B ) At the railway station,
C ) In the post office, D ) At the airport,

8. A)6 245 B) 7 :45 C), % :15 D)6 :15

9. A ) Two weeks from now,

B ) In about two days,
C )He hasn’t decided yet,
D) In four weeks,

10. A)A double room, B ) A single room,
C ) A room on the second flocr, D ) A room on the top floor,
section B

Directions; In this section, you will hears short passages, At the end of each

passage, you .will hear some questions, Both the passage and the
questions will be spoken only once, After you hear a question, you
must choose the best answer from the four choices markedA ), B),
C)andD ), Then mark the corresponding letter on the Answer Sheet

with a single line through the centre,

Passage |

Questions 11 to 13 are based on the passage you have just heard,

11. A ) Listening to music, B) Swimming,

C ) walking, D ) Going to movies,
12, A ) Running, B ) Cycling,

C ) Fishing, D ) Hunting,

13. A ) Swiss people are very frank,
B ) Switzerland has a favourable climate for sporting activities,
C) Switzerland has a variety of attractions, '
D ) Switzerland is one of the most b:autiful countries in Europe,

Passagge |

Questions 14 io 16 are based on the passaze you have just heard

14, A) To {find out how clever monkeys were,
B ) To test the intelligence of different animals,
C) To compare the difference between man and the monkey,



15.

16,

D) To find out how monkeys search for food,

A ) To give the monkey a surprise,

B) To see how the monkey ate from a box,

C) To sec how soon the monkey could find sk

D) To find out how the monkey would open the box.
A) By w.atch"ing it through the keyhole,

B ) By waiting outside the door,

C) By kneeling down at the door,

D ) By putting it in a small box

Passage J

Questions 17 to 20 are based on the passage you have just heard,

17, A ) He thought experts were more needed there,
B ) He wanted to have a good time there,
C ) He was invited to work there,
D) He didn’t like to stay in Shanghai any longér,
18, A ) Nineteen, B ) Sixty-five,
' C J Eighly-four, D) fifty,
19, A ) The food in Nanping,
B) The organization of the class,
C) The discussion in the class, ‘ .
D) The co-operative spirit of the students,
20, A ) It was interesting,
B) It was a valuable experience,
C) It was too far away from big cities
D) It was a difficult course to teach,
Part 11 Reading Comprehension

Directions, There are 4 reading passages in this part, Each passage is followed

by some questions or unfinished statements, For each of them therc
re four choices marked A), B), C)and D) . You should decide
on the best choice and mark the corresponding letter on the Answer

Sheet with a single line through the centre,

Questions 21 19 25 are hased on the fellowing passage.

The advantages and disadvantages of a large population have long been a

subject of discussion among ecoﬁbmiéts_. It has been argued that the supply of
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gcod land is limited, To feed a large population, inferior land must be

cultivated and the good land worked intensively  Thus , gach person produces
L o O L

less and this means awgg_e income than could be obtained with a

smallcrﬂacpulailon Other economists have argued that a large population nges

more scope for sPcmallzatmn and the development of fa0111t1es such as ports,

roads and rallways, whlch are . not llkely to be built unless there is a big
demand to Justlfy them

One of the difficulties in carrying out a word-wide birth control program
lies in the fact that official attitudes to population growth vary from country
io couniry zlcpcnding on the level of industrial development and the availability
cf food and raw materials, In the developing country where a vastly expanded
population is, Pressing hard = upon the limits of food, space and natural
resources, it will be the first concern of government to place a limit on the
birthrate, whatever the consequences may  be, In a highly industrialized
society the problem may be more complex, A dccrcasing birthrate may lead to
unemployment because it results in a declining market for manufactured goods,
When the ;Tess;;;f‘pogu‘lgtntlon on housing declines, prices also decline and
the building industry is weakened IFaced with considerations such as these,
the government of a developed country may well prefer to sece a slowly
increasing population, rather than ome which is stable or in decline,
21,. A small population may mean V.okh

A ) higher productivity, but a lower average income

B-) lower productivity, byt a higher average income

C) lower productivity and a lower average income

D) higher productivity and a higher average income
22, According to the passage, a large population will provide a chance for

developing b8
A ) agriculture ! C ) industry
B-) transport system D) national economy

23. In a developed country, people will perhaps go out of work if the birthrate

A) goes up C ) remains stable
B) goes down D) is out of control
24 According to the passage, slowly rising birthrate perhaps is good for
A ) a developing nation
B-) a developed nation
C) every nation with a big population

D) every nation with a small population



25 It is no casy job to carry out a gencral plan for birth control throughout
the world because A

A ) there are too many undeideveloped countries in the world

B ) underdeveloped countries have low level of industrial

€-) different governments have different views of the question

D ) even developed countries may have complex problems

Questions 26 to 30 are based on the following passage,

“It hurts me more than you” , and “This is for your own good, ” These
are the statements my mother used to make years ago when I had to learn
Latin, clean my room, stay home and do homework

That was before we entered the permissive period in education in which
we decided it was all right not to push our children to achieve their best in
school, The schools and the edycators made it easy on us, They taught that it
was all right to be parents who take a let-alone policy, We stopped making our
children do homework, We gave them calculators, turned on the television,
left the teaching to the teachers and went on vacation,

Now teachers, faced with children who have been developing at their own

pace for the past 15 years, are realizing we’ ve made a terrible mistake, One

such teacher is Sharon Klompus who says of her students “so passive” ——
and wonders what happened, Nothing was demanded of them, she belicves,
Television, says Klompus, contributes to children’s passivity, “We’re not
training kids to work any more, ” says Klpmpus, “We’re talking about a
generation of kids who’ve never been hurt or hungry, They have learned
somebody will always do it for them, Instead of saying ‘go look it up’, you
tell them the answer_ It takes greater energy to say no to a kid,k ”

Yes, it docs, It takes cnergy and it takes work kK It’s time for parents to
end their vacation and come back to work, It’s time to take the car away, to
turn the TV off, to tell them it hurts you more than them but it’s for their
own good, -It's time to start telling them no again,

26, Children are becoming more inactive in study because [\ i !

A) they watch TV too often

B) they have done too much homework

©) they have to fulfil too many duties

D)téachers are too strict with them
27. To such children as described in the passage

A )it is easier to say no than to say yes

B ) neither is easy to say yes or lto say ngo

8



€-) it is easier to say yes than to say no
D) neither is difficult—to say yes or to say no
28, We learn from the passage that the author’s mother used to lay emphasis

on. "

A ) learning Latin
B ) natural development
—€) discipline '
D ) education at school
29, By “permissive peri.od in education” the author means a time
A ) when children are allowed to do what they wish to '
B ) when everything can be taught at school
C) when every child can be educated
D ) when children are permitted to receive education
30, The main idea of the passage is that e
A ) parents should leave their children alone
B ) kids should have more activities at school
—€) it’s time to be more strict with our kids
D ) parents ‘should always set a good example to their kids

Quesiions 31 to 36 are based on the following passage.

They are among the 250, 000 people wunder the age of 25 who are out of
work in the Netherlands, a group that accounts for 40 percent of the nation’s
unemployed ,A storm of anger boils up at the government-sponsored ( BrJif $FBhY )
youth center, even among those who are continuing their studies_

“We study for jobs that don’t exist, ” Nicollete Steggerda, 23, said,

After three decades of prosperity, unemployment among 10 member nations
of the European Commmunity has excecded 11 percent, affecting a total of 12.3
million pcople, and the number is climbing,

The bitter disappointment long expressed by British youths is spreading acros
the Continent, The title of a rock song “No Future” can now be seen written
on the brick walls of closed factories in Belgium and France,

Recent surveys have found that the increasing argument in the last few
years over the deployment ( #% ) in Europe of North Atlantic Treaty Organiza-
tion missiles and the possiblity of nuclear war have clouded European youths’
confidence in the future,

One form of protest tends to put the responsibility for a country’s economic
troubles on the large numbers of “guest workers” from Third world nations,

people welcomed in Western Europe in the years of prosperity,



Young Europeans,brought up in an cxtended period of economic success and
general stabilily, seem to resemble Americans more than they do their own
parents  Material enjoyment has given them a sense of expectation,even the right,
to a standard of living that they see around them,

“And so we pass the days at the discos, or meet people at the cafe, and
sit and stare, ” said lsabella Gault, “There is usually not much conversation,
You look for ‘happiness_ Sometimes you even find it, ”

31, Unemployment in the Netherlands has affected [ /

A ) one million people

B ) roughly 0.6 million people

C) 250, 000 people

=+-) less than half of the population
32, What Nicollete Steggerda said ( paragraph 2 ) means that ¢

A ) school education is not sufficient

B ) what the students learn is more than necessary
C ) the sludenis cannot get work after graduation
) Lhe students’ aim in study is not clear
33, The word “prosperity” (line8, paragraph6 ) mosi probably means
-A-) achievements in economy B ) advance in politics
C ) economic troubles D) political crisis
34, Which of the following statements is NOT TRUE¢
A ) The rock song “No Future” is an expression of the disappointment of
~ European youth, :
B-) 40 %vof the guest workers are our of work in Western Europe now,
C ) European youths are worried about a new world war in the future,
D ) Widespread unemployment is beyond European youths’ expectation,
35, British youths biii,
A ) are trying to find work on the Continent
B) are sympathetic with the unemployed on the Continent
C) have been the first to show their disappointmeni over jdb16551less
-B-) show their concern for unemployment in France and Belgium
36, 1t scems that young Europeans

A ) look ypon life as their elders do

—B-) are more like Americans than their elders in their way of thinking
G )} look more like Americans than their elders do

D ) expect more from Americans than from their elders
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Questions 37 to 40 are hased on the following passage.

The news of the escape first got around on Sunday night, Tt threw the
oldest son ini0 anxiety, almost panic, possibly because he was old enough to
know what it meant The youngest didn/t seem:to care; he was too young,
Mrs Birnam—-—an unimaginative mother, casygoing, busy with family matters——
seemed to take the attitude ‘that if danger was involved, it was danger to some-
body else hesides themselves, Dons reaction, the middic 'son, was romantic,
what a pity that it'had Happened forty miles away, and thus the consequent
exciting danger or threat would never reach as far as their town of Arcadia,

He was twelve at the time,

There had been a break at the state prison in  Asuburn, Six dangerous
criminals had shot their way out and'were even now——so everybody said——
terrorizing the countryside, though no one had seen them since their rush to

freedom after a wounded guard, at'gun point, had raised the outer gate for
their escape, They might equally have vanished off the face of the earth or
hidden in somebody’s abandoned barn, too frightened to stir from their hiding
places for weeks to come,

The news came to the Birnams inevitably ( 4% ) from one of their neighb”
ors over the telephione, There was no radio in those days but Mrs, Kirtle was
just as good, By some mysterious gift she always managed to hear things before
anybody else and immediately got on the phone or 'rushed across the back
yards, ducking under clotheslines and knocking at kitchen door_ “Pauline
Revere, ” the boys called her, and their mother suppressed ( 3 ) a smile and
scolded them for disrespect,

37, How far was the prison from SArcadiag

7 ) Forty miles, C ) Twelve miles,
B ) Six miles D ) The selection doesn’ t tell us,
38, Mrs, Birnam’'s family learned of the news of the escape e 1"
A-) through Mrs, Kirtle C) from the wounded guard
B ) over the radio D ) by some mysterious gift
39, The boy’s attitude toward Mrs, Kirtle was one of
A ) tolerance I C) doubt
—B-) impoliteness D) kindness

40, Which of the following statements is NOT TRUEgs
A ) The six criminals succeeded in escaping with much violence,

B ) Mrs, Kirtle always kept herself informed about daily happenings in
their. neighborhood,

1



C) Mrs, Birnam thought that the ncws had nothing to do with her
family ' ‘ ;

) Every member of the Birnams was thrown into a panic by the news,

Part III Vocabulary and Structure ( 20 minutes)

Directions, There arc 30 incomplete sentences in this part, For  each sentence .
there are four choices marked A), B), C)andD ), Choose the ONE
answer that best completes the sentence, Then mark the corresponding

letter on the Answer Sheet with a single line through the centre,

Example,

The story was so touching that 1 could hardly my tears,
A ) hold on B) hold up C ) hold on to D) hold back
Sample Answer CA) (B) (C) (B)

41, 1. a long pole in the centre of the field, and on top of it 1 hung

the lamp, .

-A") put up B ) put on C) put out D) put up with
42, We all the achievements he has made in his experiments,

A admire B ) adopt C) advise D) adjust

Y 43 -If ‘the test taker finds an item to which an answer is not kmow, it may be
____ toleave it blank and go on with the test]
A ) valuable B ) effort C) effect P afford,

¢ 44, Though the long term cannot be predicted, 'the project has been
approved by the committee,
“A) affect B) effort ffec’( D ) afford

45 The toach(r s lecture on Arg%mcan gstory was three hours long, and

Morris felt very 1

A ) upset B) borcd C ) disturbed D ) neglected
746. /s surprising ihat this innocent-looking person should have . = such

a crime_

“A-) performed B ) made C ) disturbed D) commi'tteﬁ?}
47, Ted agreed to the strike if the company would satisfy the demand

of the workers
A ) call out ~B-) call off C) call to D )leall on
48, Not long ago,  John Smith, whom you know very well, = was a car
- accident

A )related to B-) involved in C) included in D) damaged by

12



